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Answers - Worksheet 8: Network Topology

1. Physical topology describes the layout of the wires and devices as well as the paths

used by data transmissions. Logical topology is the path that signals travel from one

point to another.

2. All the devices on a bus topology, commonly referred to as a linear bus, are

connected by a single cable. This cable proceeds from one computer to the next like

a bus line going through a city.

The star topology is the most commonly used architecture in Ethernet LANs. When

installed, the star topology resembles spokes in a bicycle wheel. The topology is

made up of a central connection point that is a device such as a hub, switch, or

router, where all the cabling segments meet.

When a star network is expanded to include an additional networking device that is

connected to the main networking device, this arrangement is called an extended

star topology. Larger networks, like those of corporations or schools, use the

extended star topology.

Ring topology, hosts are connected in the form of a ring or circle. Unlike the bus

topology, the ring topology has no beginning and no end that needs to be terminated.

Data are transmitted differently than with the bus or star topology. A frame travels

around the ring, stopping at each node. If a node wants to transmit data, the node

adds the data as well as the destination address to the frame. The frame then

continues around the ring until it finds the destination node, which takes the data out

of the frame.

The mesh topology connects all devices (nodes) to each other for redundancy and

fault tolerance. This topology is used in WANs to interconnect LANs and for missioncritical

networks such as those used by governments. Implementing the mesh

topology is expensive and difficult.

The hybrid topology combines more than one type of topology. When a bus line joins

two hubs of different topologies, this configuration is called a star bus. Businesses or

schools that have several buildings, known as campuses, sometimes use this

topology. The bus line is used to transfer the data between the star topologies.

3. Networking media is the means by which signals (data) are sent from one computer

to another (either by cable or wireless means). There are a wide variety of networking

media in the marketplace.

4. In a Token Ring network, the first computer that comes online becomes the "hall

monitor" and must keep track of how many times each frame circles the ring. The first

computer has the responsibility of ensuring that only one token is out on the network at a time.
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